VLB

HE: FQANY AN S2(YUTTUT/ABHEY)

oel: AIRES (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K ggi Hlns2t
20|12 4,077,362 3,178,622 898,740
= 28,300
< 25,544
Al 4,023,518
FQAM MetN S5 (YuBIUT /YU H) 771,709 682,987 88,722
INESE=3=] 771,709 682,987 88,722
NEES 771,709 682,987 88,722
201 Lt A 733,209 603,987 129,222
01 At 22l 681,480 557,010 124,470
OFUAE RS2 12,0008 * 1208 * 128 17,280
OAlE &2t 300,000 * 803l 24,000
OANE 15 22 15,400
—2023 7 100,000 * 400K 4,000
—HDVEII0l Z (601 2) 25,0002 * 80JH 2,000
—0VD & 0 7¢ 2,500 * 40074 1,000
—AHZL Q1512 700,0008 * 12€ 8,400
O222 nYx P 12,800
—XX#HR 115 6,000 * 1508 » 128 10,800
—J|Et 1,000,0002 * 23] 2,000
OFQAFERE Z20(TV, 2t0)
350,000,000 * 14! 350,000
OXFQA"ER 2(M2, BX S)
250,000,000 * 14 250,000
OFQ2 AMFYEE JI28SE L ol A2 AR
3,000,0008 » 4% 12,000
R =329l 51,729 46,977 4,752
OADYOIAE A2
151,800 * 20JHOH A = 12 36,432
ONLE(Z & B E&HI) SXIHl 400,0008 * 63 2,400
O &S =l X 11,897
— 287171 140,000 * 204 280
—3Jt0let 50,0002 * 5CH 250
—gsAE S 148,000 * 6CH 888
—HICI2tHI2H(A)
25,240,0002 * 3/100 * 2CH 1,515
—HICI2ItH 2HTH)
130,000,000 * 3/100 * 2CH 7,800
—CIXIg Jtoliet  2,990,0008 * 3/100 = 2CH 180
—3|9|8 S¢&EY 5,800,000& * 3/100 174
—HIQERAE 27,000,000 * 3/100 810
OAl&Z=H 282 1,000,0002 * 12! 1,000
203 P R =&l 5,000 5,000 0
03 Al =X RFZAIY 5,000 5,000 0
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VLB

HE: FQANY AN S2(YUTTUT/ABHEY)

chel: AIRER (&9 de
SN HB SR (BIH) - A - B S 0l &b S D=2
OFQAHM 28 AR=ZAY|
5,000,0002 * 14l 5,000
307 ©I2+0| & 30,000 30,000 0
02 QIZtH AR R 30,000 30,000 0
OY=FNAS2eE2 X2 30,000,000 * 1Al 30,000
405 XHAFE S 3,500 14,000 10,500
01 AL SEH S| 3,500 14,000 A 10,500
Odtoiet el = R (Ya=x)
3,500,000& * 14l 3,500
HESIAIY (LB D DT /AT ) 2,498,286 1,843,208 655,078
=2 28,300
[= 25,544
Al 2,444,442
N NP =X 2,127,773 1,711,157 416,616
=2 23,020
Al 2,104,753
BMAEMA 22| S 1,072,005 926,652 145,353
201 LBy 826,258 818,045 8,213
01 At 22l 35,000 44,500 A9,500
OHIOIA olgtZ202 A 2
25,000,0002 * 14! 25,000
OFN2M AFEX 2tol8 A Z=IF 2
100,0002 * 100 10,000
02 Z2=29H| 791,258 773,545 17,713
OQIHY ME3H AIRE 231,000
— =X (22 :51) 1,500,0002 » 122 18,000
— AT A2H(ALY:2M)
1,100,000 » 12€ 13,200
— A2 AE A, SHS(MSPPY)
450,000 * 3731 & * 1€ 199,800
QXA AlE2E 5,400
— D22 ZRASL OHUAIRE
30,0002 * 134 * 12¢ 360
—[HetZ2c AIRA QIHUWAIZZ
30,0008 * 134 * 12¢ 360
—OlXIE HAE OIYE QHUWAIRE
30,0008 * 134 * 12¢ 360
—9=A SRIAEIEME QEHUYAIER2
30,0002 * 134 * 12¢ 360
—ASMY ZE5DSH AHUAE2
30,0002 * 134 * 12¢ 360
—A2M2 WEA CHUAEE
30,0002 * 1318 * 129 = 2044 720
—&HIE oA OIHUWAIR2
30,0008 * 134 * 12¢ 360
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SH: B
I‘IiH: PS
C}—Ol:

30,0002 * 13l& * 128 360
—2E0IS BTOYL QAEUA
30,0008 * 13141 * 128 * 244 720
—NEENZ SN QHUWASE
30,0002 * 18|40 * 122 360
—2I20] E35tRA AHUYWASE
30,0002 * 13l& * 122 360
OIS MBI E QAEHUABES
30,0002 * 131& * 122 360
S0/ UI1A AHUAEE
30,0002 * 13l * 128 360
ONZBHE (FLUAZBOISAL)SINE ABE
10,0002 * 17044 * 122 20,400
OHEILL2I0 NS H 2 (UNS)
2520 * 40,0002 * 122 12,000
OAOIHHAIRI SUS &2
252 * 100,000 * 43| 10,000
O2H2IS Y (LAN) M&T
500,008 * 52 2,500
OSIEY SHQl JIAT 2 Jty| 4,356
—gecel 30,0009 * 3321 990
—E2 <0 99,0008 * 2424 2,376
—SHe S=l 198,0002 * 524 990
O”sIE NBZ 170,008 * 122 2,040
OADIEE EFHBAUIA 36 ABE
45,0002 * 8 * 128 4,320
ONEFHIRXHI(AAY SSRX24) 481,242
—3t=9I0l SN2 226,267
TR MAIAE
191,800,008 * 7/100 * 1.1 14,769

- EX 22108, XA (0l &3 AHBIS), =4
21, M2+ SEAH
188, 159,000& = 7/100 *1.1 14,489

-EXZe] BEAAE(KLIS) APMH

109,273,000& * 7/100 * 1.1 8,415
- MSBEZGAAS (HAHAH)
5,500,000& = 7/100 * 1.1 424
- SHO0IKS S& A
210,087,000& * 7/100 * 1.1 16,177
SSIEAIAE
16,400,000& * 7/100 1.1 1,263
- ONS 2t el Al H
18,300,000& * 7/100 » 1.1 1,410
- A S 2| 0IAIAE(UNS)
28,300,000& * 7/100 = 1.1 2,180
HEFE StECIAT SHREHI
418,450,000& * 7/100 * 1.1 32,221
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M B
I‘IiH: PS

oo w mos =8
SN HB - S2(3H) - MEAY - BAS Ofl A 0 dd T
01l & 08
CHMTE AAX =7 AAE(OR)
205,930,000& * 7/100 = 1.1 15,857
QA28 JIECIATZ R A
111,682,000 = 7/100 = 1.1 8,600
QIRY BeA Al
57,232,700 * 7/100 *1.1 4,407
MY MANE NSHEY
274,275,000& = 7/100 * 1.1 21,120
22X SE 0|53 A EH|
136,000,000& = 7/100 * 1.1 10,472
CHEYT =y
484,694,000 * 7/100 * 1.1 37,322
-HERT ZH|[HEAIAE(2010.48 04
)] 110,965,910 = 7/100 = 8/12 = 1.1 5,697
XNt HE o 3| HEE
30,250,920& * 7/100 = 1.1 2,330
- HENBO ASSEH (SHSVPN)
78,650,000 = 7/100 = 1.1 6,057
CHENEO of S 5 A| (2 HVPN)
63,818,000& * 7/100 * 1.1 4,914
CHEESY MAEH (L4)
70,410,000& * 7/100 * 1.1 5,422
- PHMMRAZZSEXIUPS(30K, 50K)
56,268,000 * 7/100 * 1.1 4,333
s MAA HEIIA TsASHD]
17,348,000& * 7/100 * 1.1 1,336
- JAFAL CCTV AlAE
18,273,000 = 7/100 = 1.1 1,408
P PS-
64,132,000& = 8/100 = 1.1 5,644
—A2TEYN KRAZH| 66,914
< MM P22 0] Al AE(UMS)
46,500,000 * 10/100 = 1.1 5,115
UEETEE-2=P\PN-
45,370,000 = 8/100 * 1.1 3,993
- Al = M0l Xl
99,000,000& * 14/100 * 1.1 15,246
- ZHIO| Xl DBMS
9,600,000& * 14/100 * 1.1 1,479
HdAZNM E2 0
121,491,420 = 14/100 * 1.1 18,710
&M XFZTH DBMS
37,750,000& * 14/100 * 1.1 5,814
- EXZEAAE DBMS
37,750,000€ * 14/100 = 1.1 5,814
-HEK3 IP 22l S/W
26,655,000 * 10/100 = 1.1 2,933
SIS AIAE S/W
29,000,000& = 10/100 * 1.1 3,190
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SA: 2RI
B MRS AY(LUDDUE /YY)
el R Hes 2A CERE
= XNzH . CLO (5 HAlol . HA 2 AF OH S = o
— T

- HEZO0IAIAE

14,000,000& * 10/100 =

X0 SEPBAAY

— g
s

= o L

2,800,000& =

et&Hl =AI=2 bl

- HIERD HiOl2A AXHEAIAE

48,000,000& = 10/100

>*

45,000,000& * 10/100 *

35,091,000& = 10/100

*

R AHE 2ot

49,507,000& = 10/100 *

- 2R HALYXAAEIPS

35,775,000& = 10/100

>*

-UIERZ E2HO0AIAENAC

>*

99,300,000& = 10/100

- CIOIE B Ol A 2 QFAI A B

=

*

101,045,000& = 10/100
SBEIIL0HA (USB) ZoHAIAE

55,800,000& = 10/100
HXI, THAF2E2|AlAE(PCE o)

46,400,000& = 10/100 *

*

-SEHATERON XEHAAY

39,000,000& = 10/100

>*

. ilOIE,I-Il}\liEil

- SH0IX

15,700,000& * 10/100 =

2 CHOIMY RO

27,000,000& = 10/100

*

CEYUYT U NHEOAIAE

72,994,000& = 10/100

>*

. ilolil,g-/\lﬁ%

[=R=]

33,000,000& = 10/100 =*

- NERELSAAILE

*

70,548,000& = 10/100

89,500,000& * 10/100 =

- SEE 2 HIAIAE (H/W)

146,973,000& = 7/100

>*

- SEEOFEHAIAE(S/W)

165,700,000& * 14/100 *

- SEE 2 HIAIAE(DBMS)

50,000,000& = 14/100

*

*

27,000,000& = 14/100

- MOIBHZHHSAIAE

-DDoS B &2

246,610,000& = 14/100
REAIAE[48 0]

>*

=TS

49,500,000 * 10/100 * 8/12 * 1.

1.

—_

1,540

3,080
188,061

5,280

4,950

3,861

5,446

3,936

10,923

11,115

6,138

5,104

4,290

1,727

2,970

8,030

3,630

7,761

9,845

11,317

25,518

7,700

4,158

37,978

3,630
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SA: B
X

X{ ZH -
S = -

o 3:”& 235 ijil T (&2 &)
_ _ - HEc
2N -3 - c2(3H) - NEME - HES 0] AFCH loﬂ/l\_Fo” Hns
- OIHY SHEE(AMOIE) IHHAIAE [
TOH] 2,754
42,909,090 = 10/100 = 7/12 = 1.1
OXNELTHEZCIAIAH (e-S X )R A 22
18,000,000& = 14! 18,000
403 XXM S K201 A 245,747 108,607 137,140
02 2I1 2SI CHSHH & AFS H 245,747 108,607 137,140
OHFFTE MMEH KRB L 2ENA
982,340,720 * 7.1/100 69,747
O#HFZB2LHAEAEHAH 2=AIS 176,000
—dHIEF=HE 25 150,000,000& * 14 150,000
—MEZ2ZIZAHA 25
26,000,000& * 14! 26,000
HAEH 22 962,910 642,250 320,660
201 Let2Hb| 32,910 63,250 A 30,340
01 AR 22|l 32,910 63,250 A30,340
OYRERATEYNH P 32,910
—st=2 100,000& * 40user 4,000
—MS @I A 250,000& = 38user 9,500
— L EA 1,300,000& = 5user 6,500
—AEX 30,000& * 100user 3,000
—QEHE 1,670,000& = 5user 8,350
—QEMNE(2011E R0H) MEAIEE 14
260,000& * Buser 1,560
207 A IR b 145,000 127,000 18,000
02 & AHH | 145,000 127,000 18,000
QIMIEE E5 AlAEH 2=
80,000,000& * 14 80,000
OLHEY DDoS 2 M E XHAAHY 2=
65,000,000& * 14 65,000
405 KHAHFE S| 785,000 452,000 333,000
01 AL S S F SHI 785,000 452,000 333,000
OMEB2AX A A A
35,000,000& * 14 35,000
O3AX SEAECIX Al
200,000,000& = 14 200,000
OHAFFE SEAELXN &4
100,000,000 * 14! 100,000
OgRE MAEY FU(YABHEE FEH &
&) 450,000
—-dA3s 1,000,000& = 400CH 400,000
—2LIH 500,000& = 100CH 50,000
NAMES 8 e 19,275 13,405 5,870
201 L Et2HH| 17,275 12,405 4,870
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SA: B
X

X{ ZH -
S = -

CHel: A Mg 5& - (St &=
i} _ _ bSNE = -
2N -3 - c2(3H) - NEME - HES agell @E% =&
01 AtR22telH 17,275 12,405 4,870
OSRATEHEESE JTUI 1,005
— A2 =M 45,0008 * 5142 * 13 225
—ANEgA=sE
15,0002 * 2A12F *x 6% » 13 180
—HExe 20,0002 * 50t= * 13] 100
— 3 & A A 100,000 * 504l * 13 500
OXNAXNLS NS
10,0008 * 24ZF * 233 5,520
OXAXES W 2A2
30,0002 * 10Al2t = 24D] 7,200
OLE A 2EH 150,000 * 10& 1,500
OXSSWNEHE ARZ H4H| 2,050
—ZO2IH EY 200,0009 * 13| * 2CH 400
—2EH e 50,0002 * 23CH 1,150
—HIOZNME 27 500,000 = 1CH 500
303 TAZ 2,000 1,000 1,000
01 ZTAZ 2,000 1,000 1,000
OZ2RTEHEESE AU ZAS
1,000,0008 * 1Al 1,000
OfR%L AZ0I0N BAHY ZaS
1,000,000 * 14 1,000
ANLHEDEHNBAATHA(Z2) 73,583 0 73,583
= 23,020
Al 50,563
201 L2 73,583 0 73,583
= 23,020
Al 50,563
01 At 224 73,583 0 73,583
OANZPHEEDBAIALY S SEH DHAY
66,750,000 * 1Al 66,750
= 21,312
Al 45,438
OANZRTHERAIAL A=A
6,833,000 * 1Al 6,833
= 1,708
Al 5,125
AFES =X 370,513 132,051 238,462
= 5,280
[= 25,544
Al 339,689
EHOIX 2% 245,476 20,976 224,500
201 L2 AH| 35,476 20,976 14,500
01 AL 22| 23,000 10,000 13,000
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VLB

M HEBAIY (Y
ol NN =A

. _ . e ~
SA - EE L SR(E) - MRAY - HAS 0l &k o4 e HlnE2
OZHO0lX PCEtEZZ )&
10,000,000& = 14 10,000
OZHOIX LstE sg4a MblA T2
13,000,000& * 14 13,000
02 2323l 12,476 10,976 1,500
OMeIZEZMIZ ) 208 A AIEE
2,500,000 » 14 2,500
OZMHOIX ZHY & HSelAoE AES
1,000,000& * 14 1,000
OEHOIX &gels A28 60,0008 * 128 720
OEHOIXl Jls=ot 400,000& =+ 102 4,000
OEHOIX MAFEBXHAIAE SN2
18,997,000& * 13/100 * 1.1 2,717
Od 824 24z AEY SAE=>
15,543,000& * 9/100 * 1.1 1,539
207 A 5O Hd| 145,000 0 145,000
02 & AR EHY| 145,000 0 145,000
OZ=Al SHOIX 28I @AMHIA 2F
100,000,000& = 14 100,000
OZHOoIX &A&E2d & s=t4d ¢ i
15,000,000& = 14 15,000
OZ=AEAHUAZ SHOIX HH
30,000,000& * 14 30,000
405 RHebE S HI 65,000 0 65,000
01 AL EFHSHI 65,000 0 65,000
OZHOIX AAA HUE BAAAE
65,000,000& » 14 65,000
ANSIEES AHY F& 17,145 11,055 6,090
201 ZEt2FH| 16,445 10,635 5,810
01 AR 2teld| 16,445 10,635 5,810
OANBIEES W=
10,000& * 158 = 23& 3,450
OANIESES s ZAZ
30,000& * 20Al12t = 157| 9,000
OFREHB0ISAME WS WM
10,000& * 28 * 170 340
OFRHE0IEANE 272 =4H] 3,655
—Zeld &l 100,000 * 13| = 17044 1,700
—JlZ2 MEE3Hl  5000& * 38 « 17 255
—ZFH =l 100,000& * 17JH2 = 50% 850
—Zely =l 100,000& * 17024 * 50% 850
301 et a3 700 420 280
10 HAAHIE &2 700 420 280
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L 290|2g

D HESA (BT RN/ L)

CNEEEE =

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
O ZE=3t &0ty =M &4 ol
70,000& * 1098 * 1 * 13 700
HES0IES T2 03 22 XH(2) 30,432 23,760 6,672
= 5,280
& 6,644
Al 18,508
307 QI2tol A 30,432 23,760 6,672
= 5,280
& 6,644
Al 18,508
02 QItAAE X 30,432 23,760 6,672
OdLE3I0E T At 29
15,216,000& » 29 30,432
= 5,280
& 6,644
Al 18,508
F20I2AI8 XA (%) 63,700 63,000 700
& 18,900
Al 44,800
101 2124 d| 63,000 63,000 0
& 18,900
Al 44,100
04 J12HHZ22NHSES 63,000 63,000 0
Oyl b Xl XI& 63,000
—ogd 37,100& = 10¥ = 114 42,294
& 18,900
Al 23,394
—=54 37,1002 * 10¥ » 23 8,533
—E Xt 37,100& = 10 = 5& 1,855
—wE, ZHAH] 3,000& * 10 = 114 3,420
—404 B8 689,800& * 10H 6,898
301 BB A= 700 0 700
10 HALAIHIE A= 700 0 700
Oyl dMd Qc|dHolE &It ¢l
70,000& * 109 = 1« 700
Jd230t22d 13,760 13,260 500
201 L Bt2IH| 8,160 6,160 2,000
01 AR 2teld| 2,000 0 2,000
OX¥E30tE 22 (#2% ) HE
1,000,000& = 14 = 2044 2,000
02 2=22gHl 6,160 6,160 0
O&E30tE SHOIXN |RANE=
35,000,000& * 8/100 * 24 = 1.1 6,160
301 LEE A= 5,600 5,600 0
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SN IR
Y YA (LUDDHE /LB T)

=

el NEE2s =&

_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
10 HAIAHI B A2 5,600 5,600 0
OXL30IES 2IL s &It
70,0002 * 53 » 5% » 2MHA 3,500
OXFEZ3E0IE HAEH &JH0H
70,0002 * 159 * 1JHA « 2 2,100
EplZe|(YtZ DY /AP H) 694,035 540, 145 153,890
Salze 694,035 540, 145 153,890
Salzel 499,395 540, 145 40,750
201 L2 AH 289,645 324,645 A35,000
01 At 22| 24,160 22,160 2,000
OHXMHSHE M 1,000 = 1,500% 1,500
OMEXZA SAES AEIH ME
500,000 * 13] 500
OSHS A A AIRA XHAN 02 0™
A X/ 300,000 * 10IH A 3,000
OFUEASIE HH(2HA, sHIISHEH, A
SAEZRIAR A, HHIE) 500,0008 * 40HA 2,000
OIPRED| GIHIZIE RA(IASMIIE 2f)
5,000,000 * 30H 15,000
ORAESEI EH 2Y
90,0002  4CH = 12& = 50/100 2,160
02 222YH| 265,485 302,485 A37,000
Ox=ze Mtz 10,000,000 » 12& 120,000
OF=ctaar M52 500,0008 = 12& 6,000
OANUAZSIH A2 310,000 * 1003| & 31,000
OANINE3IH A2 3,833,333 * 128 46,000
OFUES AIRE 100,000 = 304 » 122 3,600
QS| It HMBHUZE MAIR) 1,400
—Ho2 8,000 = 50CH 400
—SIAIE HE2 20,0002 * 50CH 1,000
ool 3% 36,720
—ZDESUY(NE-EH)
3,000,000 * 12€ 36,000
—ZYEE2 60,0002 * 12& 720
OXSA M3tWe X QK4
71,000,000 * 5/100 3,550
OINEZ=HA & F=HI|J| KRAE2=H|
56,420,000 * 5/100 2,821
OF3FI| X244
40,0009 * 400CH * 5/100 800
OLAEEI| SXB2H|
1,300,000 * 4CH = 5/100 260
OSEdE M3 |SXESH
14,000,000 * 5/100 700
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SN
X XH .
S Tt

oLk

m

=808 g
Solze|(LesSHY/LBHE)
salzel

_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
OD&CHES HX S22
4,000,002 * 5/100 700
OHICIAY HtY KX LS4
12,680,000 * 5/100 634
OAFSEAAIZY REEl 700,008 * 4CH 2,800
OFUedz RXNE=> 5,500,000& * 14l 5,500
OSaa waBY SN2L
3,000,008 * 14! 3,000
308 XX SHHMSOIA 15,750 10,500 5,250
05 RtXI SR S 2 15,750 10,500 5,250
OS0/& ZUHAIIATY RS A
15,750,000& * 14 15,750
401 A& HIZ 20| 50,000 20,000 30,000
01 Al bl 50,000 20,000 30,000
ORSBEM HRTALHIE, A4S0, B4
) 50,000,000& * 14 50,000
405 AHetE = HI 144,000 185,000 A41,000
01 HMUSZ3 St 144,000 185,000 A41,000
OIPEED| T(2 350, 08I 50)
400,000& * 200CH 80,000
OoclpdE st =+¢ 40,0003 = 100CH 4,000
OQEUHSHE Yot AL 7
60,000,000& * 14 60,000
CCTV Sgf2Ndy 29 194,640 0 194,640
101 @1 24H| 100,000 0 100,000
04 JIZtHIZ22XRHSE+ 100,000 0 100,000
OJIZtNZ22Xs E= 20,000,000& » 5% 100,000
201 fEt2dd| 94,640 0 94,640
01 AL 22l bl 1,200 0 1,200
Oxnl2 =4t 1,200
—SAI ElH 200,000& = 23| = 104 400
—PC==2lH| 50,000& * 4CH 200
—JIEt==cld| 50,000& * 12& 600
02 222l 93,440 0 93,440
02222 ¥ WAl 93,440
-3z 71,0003 * 10021& + 128 85,200
—&JI23 600,000& = 12& 7,200
—&ot=ERe=s 50,000& * 12& 600
—BANMRYS 50,0008 * 2% 100
—HIIHE A AL 60,0002 * 23] 120
—d3x Eag 100,000& = 13 100
—FEMEZ 10,000& = 12& 120
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SA: 2RII=E
Mo H™2AAH(S2II=Y)(IIEHIIE)

@ Jl=2&l (&2 &
S HH O (3H) - NBAY - B2 0f &k o gggf; H D=2
HNESAHAH(ELIIEE)(IIEH/DIE 113,332 112,282 1,050
Jle23dHl 113,332 112,282 1,050

Jle&l 113,332 112,282 1,050
201 82| 23,012 21,962 1,050
01 At 22l bl 23,012 21,962 1,050

OsAMEX 2| 13,0003 * 228t A « 12& 3,432
OEZ A 5,000& * 64 » 229 x 12& 7,920
Ogteg 100,000& * 12& 1,200
OL72 AL 50,000& = 12& 600
OAR2 =44l 8,540
—=SAMI| F2l(A) 500,000& = 1.5CH 750
—T2IE =2 100,000& * 5CH = 50/100 250
—SAH EY 200,000& = 53] = 1.50H4 1,500
—T2IH(E%W) E4 200,000 * 53] = 5CH 5,000
—pc==cl 100,000& * 2201 = 20/100 440
—J|Et==2l bl 50,000& * 12& 600
OJIEF AFR2t2lH] 5,000& = 229 x 12& 1,320
202 44| 84,920 84,920 0
01 2 84,920 84,920 0
O2)|2 8 g2FF ¢l 84,920
— 2L 4 H 20,000& * 22 » 122 x 12& 63,360
— 224 Hl 70,000& * 229 x 14 21,560
203 g R F=&| 4,200 4,200 0
04 EMSHIRFEH| 4,200 4,200 0
ORN2IERFAY| 350,000& = 128 4,200
204 X R HZFH| 1,200 1,200 0
01 AMZERHEH| 1,200 1,200 0
OXNMIHLLHAH(ELIIEEH)
100,000& * 198 = 12& 1,200
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